Signature and Name of Invigilator

1.

2.

N

Time : 1V4 hours]

(Signature)
(Name)
(Signature)
(Name)

1|7

PAPER - 11
YOGA

OMR Sheet No.: ..........ccocoeieciicccrcecs e
To be filled by the Candidate)

Roll No.

(In figures as per admission card

Roll No.

(In words)

[Maximum Marks : 100

Number of Pages in this Booklet : 32

Number of Questions in this Booklet : 50

N

N

10.
11.
12.
13.

Instructions for the Candidates
Write your roll number in the space provided on the top of
this page.
This paper consists of fifty multiple-choice type of questions.
At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(i) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do notaccept
a booklet without sticker-seal and do not accept an open
booklet.
Tally the number of pages and number of questions in
the booklet with the information printed on the cover
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however, allowed to carry original question booklet and
duplicate copy of OMR Sheet on conclusion of examination.
Use only Blue/Black Ball point pen.
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YOGA
PAPER - 11

Note : This paper contains fifty (50) objective type questions of two (2) marks each. All questions
are compulsory.

1.  “Samatvam Yoga Uchyate” is described in which verse of Bhagvadgeeta ?
(1) 3/48 (2) 2/50 (3) 3/50 (4) 2/48

2. Propounder of Samkhya Darshan is :

(1) Gautam (2) Kapila (3) Kanada (4) Jaimini

3.  According to Patanjali, the Karma of a yogi is of which type ?

(1) Shukla (2) Krishna (3) Ashuklakrishna (4) Shuklakrishna
4. How many principal Nadis are mentioned in Kathopanishad ?
(1) 100 (2) 101 (3) 110 4) 111

5.  Which one of the following Asanas not mentioned in Shiva Sambhita ?
(1) Padmasana (2) Ugrasana

(3) Swastikasana (4) Bhadrasana

6. According to Hatha Ratnavali, the Chittavrittinirodha is called as :

(1) Yoga (2) Raja Yoga (3) Hatha Yoga (4) Maha Yoga
7. The recommended daily dose of protein, for an adult is :
(1) 2 gm/kg body weight (2) 1 gm/kg body weight
0.5 gm/kg body weight (4) 1.5 gm/kg body weight
a7 HIHHHIIH\I“IIHII|\||H||||HH|| I : Fapec
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o : =9y | U (50) Sg-fashed i we ¥ 1 U U9 6 4 (2) 3k &1 |ty sifremd ¥

1. FTEQId o fohd vl | ' HH@ a1 3od ! Rl 9 § 2

(1) 3/48 2) 2/50 3) 3/50 (4) 2/48

2. HieA TIH % Jedh ©

(1) ™ (2) wfaa (3) MR (4) SifEt

3. TdS(cl o STIER, ART I hH fohd TR 1 B ?
1) I&A (2) o™ (3)  SRIFAH™I (4) IR

4.  F3AgagH fha gum feadt & 9l fFa T e ?
(1) 100 2) 101 3) 110 4) 111

5. Tr=fafed § 9 frg e o1 v fre wfed o @t foran T &2
(1) YA (2) SuEA (3) &Rt (4) H=TEA

6. T3 ICTEE & ITER FamgfatRiy weam ¢ ¢
(1) dm (2) TSI 3) ®dm 4) wHRAM

7. Tod auws & @ e i dwga Sfe v R
(1) 27/ W ¥R () 17/ fRa. W ¥R
(3) 0.5 U/ R IR ¥R (4) 1.57M/fRI. W IR
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Ahara, Nidra, Brahmacharya

Inspiration and expiration are Active

Paper-II

8.  Which structure of the living cell is called as “Suicidal Bag” ?
(1) Centrosome (2) Ribosome
(3) Lysosome (4) Golgi Apparatus
9.  Concept of Panchakosha is mentioned in :
(1) Chhandogya Upanishad (2) Taittiriya Upanishad
(3) Mandukya Upanishad (4) Mundaka Upanishad
10. Psychology is the scientific study of :
(1) Soul
(2) Mind
(3) Human Behaviour and mental processes
(4) Consciousness
11. According to Ayurveda, the three pillars of life are :
(1) Vata, Pitta, Kapha (2) Satva, Rajas, Tamas
(3) Dharma, Artha, Kama 4)
12. The aim of yoga education focuses on :
(1) knowledge only (2) strength only
(3)  social relationship only (4) allround development
13. Which statement is true for Kapalabhati ?
(1) Inspiration is Active (2) Expiration is Passive
Inspiration is Passive 4)
s [ 4




8.  Siiford hIfSTeRT ohi ShIA-HY T 3TcHge i el heddl § ?
(1) HZEm 2) TEeEH
(3) <EEEH (4) TN TAEE

9.  UTHIY i YR I forad Seotg foran T § 2
(1) BTN 4G (2) dfada 3ufug
(3) TSR U 4) A= g

10. THEIfaTH foreeRt ST 7o 2
(1) ST ol
()
(3) HMd SRR R "HfAH Yfshan
(4)

11.  AYAE % TER e & T e € ¢

(1) =, fud, %% (2) W, T, 9
(3) wH, e, FW (4) oTeR, fgl, s

12. A F REA R FE T
(1) ad I (2) had Wl
(3) hedd WIS Helel (4) Haf fasmE

13. HUA ifa % & HH-T1 FoF T 2
(1) Yvag 9fmg T ) fa:vam ffera 7
3) e fafera ¥ (4) v 3R f:vemw Wi €1
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14. The method of Samadhi Siddhi according to Maharshi Patanjali :

(a) Pranayama (b) Ishwar Pranidhana
(c) Abhyas-Vairagya (d) Pratyahara

Find the correct combination according to the code :

Code :

(1) (a) and (d) are correct (2) (b) and (c) are correct
(3) (b) and (d) are correct (4) (c) and (d) are correct

15. In which of the following seasons the practice of yoga should be started by new
practitioners ?

(a) Hemanta (b) Sharada

(c)  Shishira (d) Vasanta

Find the correct combination according to the code :

Code :

(1) (c) and (d) are correct (2) (a) and (b) are correct
(3) (a) and (c) are correct (4) (b) and (d) are correct

16. Types of Kumbhaka mentioned in Hatha Ratnavali are :

(a) Bhastrika, Bhramari (b) Kewal, Bhujangikaran
(c)  Murccha, Plavani (d) Seetkari, Sheetali

Find the correct combination according to the code :

Code :

(1) (a), (b) and (c) are correct (2) (b), (c) and (d) are correct
(3) (a), (b) and (d) are correct (4) (a), (c) and (d) are correct

17.  Which of the following vitamins are Fat soluble ?

(a) Vitamin A (b) Vitamin B
(c) Vitamin C (d) Vitamin D
Find the correct combination according to the code :
Code :
(1) (b)and () (2) (@) and (d)
(3) (a) and (b) (4) (0 and ()
aor VTR 6 Fapert




14.

15.

16.

17.

w7 |

T gdsIfal o STT9R, Iy fafg &t fafy ¢

(a) HTOmEH (b) YR HioTEE

() 3TI™ - I (d) YRR

T 53 T e ¥ W& HAeH T

< :

(1) (a) 3R (d) T T 2) (b) 3R (c) =& T

3) (b) 3R (d) =& T 4) (o) 3R (d) =&t ¥
frfafea § 9 ford dradl § 73 At i G & S aifed ?
(a) THA (b) ¥

(¢ TR (d) =Ea

e % STER & Ao I

e

1) (c) 3R (d) =& T 2) (a) 3R (b) T T

3) (a) 3R (c) T T 4) (b) 3R (d) & ¥

T3 Tolaett B afofa fherehi % TR €

(a)  wifesrenT, 9l (b)  heA, YSITIIHI

() =3I, =at (d) Heh, sfactt

e % STER & A A

<

1)  (a), (b) 3R (c) & | 2)  (b), (c) 3R (d) T 1
(3) (a), (b) 3R (d) ¥ E1 4) (@) (0 3R (d) TAE

foreiferfad & @ - forerfe o o9 2

(a) foerfi A (b) foref®= B

(c) fe=rfdm C (d) feerf@ D
e & STIAR H&t GaASH T -

<< :

(1) (b) 3R (o) 2 (a) 3R ()
(3) (a) 3R (b) (4) (b) 3 (d)
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18. For Kapha prakriti individuals, which of the following types of foods are beneficial :

(a) Unctuous (b) Light

(c) Dry (d) Heavy

Find the correct combination according to the code :

Code :

(1) (a) and (b) are correct (2) (b) and (c) are correct
(3) (a) and (d) are correct (4) (c) and (d) are correct

19. According to Hatha pradeepika, which food items are apathya for a Yoga Practitioner :

(@) Curd (b) Milk

(c) Butter Milk (d) Butter
Find the correct combination according to the code :
Code :

(1) (@) and (0 (2) (@) and (d)
(3) (9 and (d) (4) (b)and (d)

20. The purificatory methods not beneficial for Eye problems are :

(a) Trataka (b) Basti

(c) Neti (d) Nauli

Find the correct combination according to the code :

Code :

(1) (a) and (d) are correct (2) (b) and (d) are correct
(3) (a) and (c) are correct (4) (b) and (c) are correct

21. Gomukhasana is mostly beneficial in :

(a) Eye disorder (b) Lung diseases
(c)  Skin disorders (d) Backache
Find the correct combination according to the code :
Code :
(1) (a) and (b) are correct (2) (a) and (c) are correct
(3) (b) and (d) are correct (4) (c) and (d) are correct
aoor [ [IFHHHILY ; Fapec




18. T UHfd amel el & fow smer & frfafed § 9 #i9 YHR enees § ?

(a) few (b) <

(c) ¥ d T*

e o ATHR Tl GASH T ¢

<< :

1) (a) 3R (b) T& 1 2) (b) 3R (c) T T
3) (a) 3R (d) W 1 4) (o) 3R (d) w1

19. T3 YEIfUhT % STTER At % fow &9 | @ uere o79e ¥ 2

(a) @ (b) 3¥

(c) T (d) et
F2 % STTER FE HASH T+ -

e :

(1) () ¥R () (2 (a) ¥R (d)
(3) (o) ¥ (d) 4) (b) 3R (d)

20. = fowRl & fau wF o gigwo fafear o =@ €2

(a) FEh (b) afeE

(c) =fa d) Fifa

2 h HATAR T HaISH A :

<

1) (a) 3R (d) T 2| 2)  (b) 3R (d) =& T
3) (a) 3R () T 1 4) (b) 3R (c) W ¥

21. @A T § 9 ged: fhTH arvys 2§ 2

(a) -3 (b) TFHSI A

(c) = d) W=

e o FATHR Tl GaASH T ¢

<< :

1) (a) R (b) T & 2) (a) R (c) T €
3) (b) 3R (d) T & 4) (o) 3R (d) =t &
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22. Asanas contraindicated in Cervical Spondylosis are :
(a) Makarasana (b) Bhujangasana
(c) Shashankasana (d) Padahastasana
Find the correct combination according to the code :
Code :
(1) (a) and (c) are correct (2) (c) and (d) are correct
(3) (a) and (b) are correct (4) (b) and (c) are correct
23. Diseases caused due to stress are :
(a) Headache (b) Hypertension (c) Diabetes (d)
Find the correct combination according to the code :
Code :
(1) (a), (b) and (c) are correct
(2) (a), (b) and (d) are correct
(3) (b), (c) and (d) are correct
(4) (a) and (d) are correct
24. Dhanurasana is contraindicated in :
(a) Hypertension (b) Constipation
(c) Abdominal obesity (d) Hernia
Find the correct combination according to the code :
Code :
(1) (b) and (c) are correct
(2) (a) and (d) are correct
(3) (c) and (d) are correct
(4) (a) and (b) are correct
a7 HIIHIIHIIII\IHH\||H\|||HHH 1
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22.

23.

24.

w7 |

Heigehel TITSATTd H -9 3T el hed Iied ?
(b)
(d)

()
(©)

e o ATIR H& G 9 ¢
EE:

1)
(3)

A 4 B e S e ?

()

F2 % STTER FE HASH T -
< :

1)
(2)
(3)
(4)

4

oA e # 1 o # fafag €2

()

(3)
(4)

Heh {14

MEUEQESE!

(a) 3R (c) T ¥
(a) 3T (b) T &

g (b)

(a), (b) 3R (c) W &
(a), (b) 3 (d) T &
(b), (c) 3 (d) T &
(a) 3R (d) =& §

B RCHEIN

EEERCHEIN
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25. Yogic practices :
(a) involve slow and steady exercises
(b) lead to fatigue
(c) lead to peace of mind
(d) involve vigorous exercises
Find the correct combination according to the code :
Code :
(1) (a) and (c) are correct
(2) (b) and (d) are correct
(3) (c) and (d) are correct

(4) (a) and (d) are correct

26. Given below are two statements, labelled as Assertion (A), and a Reason (R). Indicate your
answer from the alternatives below :

Assertion (A) : Kriya Yoga reduces afflictions and leads to samadhi.

Reason (R) : Tapa, swadhyaya and Ishwar pranidhana are the powerful tools of kriya
yoga to achieve the samadhi.

In the context of above two statements, which one of the following is correct ?
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3)  (A) is true, but (R) is false.

(A) is false, but (R) is true.

w7 HIHHHHH\NH MR
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b)  IHEE Bt T
) T ot wifa fHerdt 1

d) R =MW Hitnfed g1

26. = fed T3 1 el B § U I AR (A) 2R T F qeh (R) FI I G E T A9 A ™
forenedl § & W&t W T
AR (A) :  ToRan A9 & o 1 frgfa St & fSad wmfy ura St €1
e (R) : U, T AR SR YT gty -wife ¥ foman-=m o wifeemett @rem €
ST I weEl & e # FrAfafed § 9 ®F @ W@ 72
(1) (A) 2R (R) I T& € 71 (R), (A) T T =0 T
2) (A) 3R (R) THI T ¥, AfHA (R), (A) I T& A& 7 T
(3) (A) W& T, AR (R) Tomd B |

4) (A) T T, AT (R) TR
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27.

28.

29.

N-10017 HNHH"H“M

Given below are two statements, labelled as Assertion (A), and a Reason (R). Indicate your
answer from the alternatives below :

Assertion (A) : Bandhas are the powerful tools of yoga.
Reason (R) : Bandhas are used along with the practice of pranayama to get blissfulness.

In the context of above two statements, which one of the following is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

Given below are two statements, labelled as Assertion (A), and a Reason (R). Indicate your
answer from the alternatives below :

Assertion (A) : Minerals are micronutrients.

Reason (R) : Minerals are essential for nutrition although they are required in small
amounts.

In the context of above two statements, which one of the following is correct ?

(1) Both (A) and (R) are true and (R) is not the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is the correct explanation of (A).

(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

Given below are two statements, labelled as Assertion (A), and a Reason (R). Indicate your
answer from the alternatives below :

Assertion (A) : Antarayas are obstacles in yoga sadhana.

Reason (R) : Dukha, Daurmanasya, Angamejayatva, shvasa and Prashvasa cause
distraction of chitta.

In the context of above two statements, which one of the following is correct ?

Both (A) and (R) are true and (R) is the correct explanation of (A).

)
2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
) (A) is true, but (R) is false.

)

) is false, but (R) is true.
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28.

29.

F el T D e § @ T w1 AR (A) 3R TR F1 W (R) FEW A ¥ R
foreredi # 9 w&l SW g

AR (A) : &8 I F wiferTed e

Weh (R): IO & STTE o |1 <Y o1 STANT T shi Wi & ferd feman e €1

SR & FHeFl & Gedf H FrAfafea # @ sR @ 22

(1) (A) 3R (R) IF & € 91 (R), (A) HT T =0 ¥

2) (A) 3R (R) IH W& T, AR (R), (A) T T =0 T 2 |

3) (A) 5 ¥, AfFA (R) Tod 2|
4) (&)

4) (A) 7T ¥, AfA (R) T 2

T fed T 1 weAl | § U A1 MR (A) 3R T FI Ak (R) H G E T A fF

AR (A): WS, geH drvsha § |

qeh (R): QS TRR & ford evewaes €, Jafd St sTaveehal & w1 # 2t 7|
IR & FHeFl & Gedf H FrAfafea § @ w0 @ g g2

(1) (A) R (R) 1 @& & de1 (R), (A) T T e 7 g

2) (A) 3R (R) IHI T T, AfHRA (R), (A) T T&l AT

3) (A) 5 ¥, AfFA (R) T 2|

(4) (A) o &, Wi (R) e E

4

T fe T 1 weAl H § U A1 MR (A) R T FI Ak (R) H G E T A

AR (A) : ST, AT ATeET B aereh T

qh (R): T, A=, STTHSEd, varg iR yvard fod 1 qes |
ST < Al & e H frfefaa § @ o @ '@ %2

(1) (A) 3R (R) S Tl T (R), (A) i T AT

2) (A) 3R (R) IH T T, AR (R), (A) T T =€ T 2 |

3) (A) 5 &, AfFA (R) T 2|

(4) (A) 7oA T, Afehd (R) Tl
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30.

31.

32.

Given below are two statements, labelled as Assertion (A), and a Reason (R) . Indicate your
answer from the alternatives below :

Assertion (A) : Management of diseases by the application of yogic methods is known as
yoga therapy.

Reasong (R) :  Yoga therapy is preventive, curative as well as rehabilitative.

In the context of above two statements, which one of the following is correct ?
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

Given below are two statements, labelled as Assertion (A), and a Reason (R). Indicate your
answer from the alternatives below :

Assertion (A) : Tadasana increases the height of children.

Reason (R) : Tadasana stretches the muscles, ligaments and entire spine, thus helps to
increase the height.

In the context of above two statements, which one of the following is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

Given below are two statements, labelled as Assertion (A), and a Reason (R). Indicate your
answer from the alternatives below :

Assertion (A) : The best time to do yogic Practices is Brahmamuhurta.

Reason (R) : At the time of Brahmamuhurta, atmosphere is pure and quiet, and mind
has no deep impressions on the conscious level.

In the context of above two statements, which one of the following is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3)  (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

raoor [ RN 1
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qeh (R): 3 fafewan farers, Su=rers $iR gHerdress € |

SR & Al & "o H Frefafed § 9 & W W& 72

(1) (A) 3R (R) S Tl T (R), (A) Fl T AT

2) (A) 3R (R) I =& €, ARFA (R), (A) F T =0 T T

3) (A) W& &, AR (R) T T

4) (A) T &, AR (R) HE T

4

T fed 7 < FHeAl H T TH h AURYT (A) 3R TR H qeh (R) F G & T 71 A @ T

AR (A) : TS W =l ht TS Tt |

qeh (R): T 9 Ui, siftdy ofR ¥ Ecue § fg=d o1l © S ddrE g § Her el ¢ |
SR & el & Hey H frefafed § 9 &9 o w@ 72

(1) (A) 3R (R) I T € 901 (R), (A) I G A& T

2) (A) 3R (R) < =& §, éﬁmR (A) T TE =T T T

3) (A) W& R, AfFd (R) Terd T

(4) A)W%éﬁr—r ) TR T

4

F et T & o W T R (A) R TR A A (R) D R A
ol & @ T S I -

e (A) : AT 1918 1 ITH THT TR © |

qoh (R): SR oh 999 AERY G TR WG Gl §, T <aT1 o &R T 7 TR A el B9 T80
B |

I < Al & e H frfefaa § @ o @ '@ %2

(1) (A) 3R (R) S Tl T T (R), (A) T T&l AT

2) (A) 3R (R) I =& €, ARFA (R), (A) F T e T T
3) (A) W& R, AfFd (R) TTerd T

(4) (A) 7@ 8, @R (R) TR ©

oo [ HHHIEA G



33. Arrange the following in sequential order, according to their origin, as described in
Taittiriyopanishad :
(a) Purusha (b) Anna (c) Prithvi (d) Aushadhi
Use the code given below for correct answer :
Code :
1) (@) (b), (d), (©)
(2)  (©), (d) (b), (@)
(3)  (© @ (b) (d)
4 (), @) (9 (d)
34. According to yogavashistha, arrange the following stages of Gyana in sequential order :
(a) Sattvapatti (b) Vicharana (c) Shubhecchha (d) Tanumanasa
Use the code given below for correct answer :
Code :
1) (), (@) (d), () 2 (©), (b), (d), @)
(3) ), © @), @ @ @, @, ®)©
35. Arrange the following types of samprajnata samadhi in sequential order :
(a) Vicharanugata (b) Asmitanugata (c) Vitarkanugata (d) Anandanugata
Use the code given below for correct answer :
Code :
1) (@) () (d), (b) 2) (@) (9 (b) (d)
(3 (©. @ (b) (d) @) (©) @), (d), (b)
aor VTR 1 Fapert




33. dfadmafog # feafad 37 3gva & A7uR fefafed &1 3faa swa § afied & :
O (b) o7 () g (d)  sife
TH SR & fore fFafafed we w1 s ¢
e

1

2

1)
(2)
(3)
(4)

4

34. M SRS % STIUR, 99 & FAfaraa s/eeensti &l 3faa e o et & :

(a) Geamafd (b) fe=mon ) =S (d) A
el I o fau Fefafed s o 39 =1 :

<< :

(1) (b), (@), (d), (¢) (2)  (¢), (b), (d), (a)

(3) (b), (0), (d), (a) 4) (a), (d), (b), (¢)

35. 9 Ty & fefafad e & Sfed sha § saeferd o

(a) T (b) AT (c) faasigma (d) SAHSET
e I o fau Fefafed we o 39 1 :

Fe -
1) (@), () (d), (b) 2 (@ (© (), (d)
3) (@ (@, (®), (d) 4 (9 (a), (@) (b)

oo [ HHHIEA 1




36. Arrange the following stages of Nadanusandhana in a sequential order :
(a) Arambhavastha (b) Parichayavastha
(c) Nishpatti avastha (d) Ghatavastha
Use the code given below for correct answer :
Code :
1) @ ®) © @ 2 (@ ®) @ ©
®) (@) (d) ®) (© @ (®), @, @), ©
37. According to Gheranda Sambhita, arrange the following practices in sequential order :
(a) Mudra (b) Asana (c) Pratyahara (d) Pranayama
Use the code given below for correct answer :
Code :
1) (b) (@), @), (@ @ (), (b) @), (@
©G) (@), (b), (d), (c) @) (®), (a), (d), ()
38. Arrange the following seasons in sequential order, starting from winter :
(a) Summer (b) Winter
(c) Rainy (d) Spring
() Autumn
Use the code given below for correct answer :
Code :
1) ©) @ © @ @ @) (@ @, ©, @, b
©G)  (®), (9, (d), (@), (¢) @) (®), (d), (@) () (¢
waons [ UL 2 Faper!




36. ARMEHM & f=fafad stekensdi = 3fad v | afeed i :

(a)  STEFTErE (b)  TR=TErE

(c) foafa storeen (d) EeEEn

@ SR & fore fFafafed we o s i

ETE

1) (@) (b), (), (d) 2 (@) () (), (0
3) (@ (D, (®) (o) @ (), @) (), (©

37. ERUE wfedl % 3ER, f=fafad st =l 3faa e § =afked &l :

(@) Hal (b) ATEA (c) FdERR
e I o fau Frefafed we o s9am 1 :

<

1) (b), (a), (0), (d) (2) (@), (b), (c), (d)
3) (@), (b), (d), (c) 4) () (a), (d) ()

38. Trefafad skasti =i, RIRR | urew wed ge, Sfed o o orefeed =i

(a) YA (b) TRE

(c) o (d) =Ea

() M

e S foru frefafaa %2 &1 suan =

Fe :

1) (b), (@), (9), (d), (e) 2) () () (c), (d), (b)

(3)  (b) (c) (d), (), (e) 4) (), (d), @) (c) (e)
eaoor [ NN 2
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39.

40.

(
oo |

Match the List - I with List - IT and select the correct answer using the code given below :

List -1

(a) Hatha pradipika

(b) Satyarthaprakash

(c) Hatharatnavali

(d) Siddhasiddhantapaddhati

G ) @ @
) (@) @ (i)

(d)
(i)
(i)
(i)
(i)

()

(i)
(i)
(iv)

List - II

Swami Dayanand
Shrinivas
Gorakshnath

Svatmaram

Match the List - I with List - IT and select the correct answer using the code given below :

List -1

(a) Swami Vivekanand

(b)  Sri Aurobindo

(c) Maharshi Mahesh Yogi

(d) Lord Buddha

@@ (b) (o)
® @ @) ()
(2) @) (D) (@)
®) @) @) @
(ii) (i)

)
AN

iv

i

(
il

List - II

Transcendental Meditation
Vipassana

Neo-Vedanta

Integral Yoga
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39. eIt - I &I el - 11 & W1 gafad ¢ 3R = i3 T %2 1 760 3 g HEr S A

40.

oo [

T - 1
(a) 3 WeIfdh
(b) Hed TR
(c) T3 Tl
(d) fos fag usfa

@@ (b) (o) (d)

1 ® @v) G ()
(2) @) (@v) @) ()
G @) @ @) ()
@4 (@) @ @) (@)

T - 11

T - 1 & Gt - 11 < &1 gafad o iR = 8 73 e 1 T80 itd g8 9al ST 9 ¢

g - 1
a) Tl faasE<

® © @
i) () (iv)
@ @ 0
™ 6 @
@ @ @ @

) () @) @)
AT

T - 11
i)  WEmd e
i) oo
i) A A

(
(
(
(iv) HEI AN
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Match the List - I with List - IT and select the correct answer using the code given below :

List - II
(i) Janma, Ayu, Bhoga
(i) Klesh, Karma
(iii) Vishaya

(iv) Chitta

Match the List - I with List - IT and select the correct answer using the code given below :

41,
List - T
(@) Vasana Hetu
(b) Vasana Phala
(c) Vasana Ashraya
(d) Vasana Alamban
Code :
(@ () (o) (d
O @ 6 @ @
@ O @ @ @
6) ) @ @) @
@ Gv) () @) ()
42,
List - T
(a) Varisara Dhauti
(b) Vastra Dhauti
(¢ Nauli
(d) Bastikriya
Code :
@ () () (d
M 6 @ @ G
@ G @) @ ()
@) (v @) G 6
@ ) O @ )
weaoor [N

(i)
(i)
(iv)

List - II

Hrid Dhauti
Jatharagni
Large intestine

Antar Dhauti

24
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41. Gt - 1% Gt - 11 & W gafad oL 3R A K8 T %e 1 7@ 3 gu aa fawed 97 ¢

et - 1 T - 11
(a) wEIRY (i) S, 3T, S
(b) STEA HA (i) W, HH
(c) oTET 3T (iti) oo
(d) STEAT TR (iv) Tem
e :

@@ (b) (9 (d)
1) @ @ Gv) (i)
2 @ @@ @) (@Gv)
3) @) (@) (@v) (i)
4) (v) @@ @) @

42. Gt - 1 1 Gt - 11 % 91 gafea & iR 9 o3 73 e 1 79 & g0 9 S g1 ¢

et - 1 T - 11
(a) SRER &ifq () =& difa
(b) T Hifd (i) U
(c) e (iii) S 3
d) =fa foran (iv) eTadifa

Fe
@ () () ()
M 0 (@Gv) @) ()
(2) @) (@v) @ i)
(3 (v) (@) () ()

4) (v

1

@

(i)

) (
L

i)

)
Il

w7 | 2
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43. Match the List - I with List - IT and select the correct answer using the code given below :

List - I List - II
(Chakra) (Place)

( Swadhishthana (i)  Region of Heart

( Manipura (i) Throat Region

(c) Vishuddha (iii) Between Eyebrows

(d) Anahata (iv) Navel Region

() Ajna (v)  Root of Genital organs

Code :
@ (® (o (d (o

1 v v @O @ (i

@ @ O @ @G) (i

G @O @ @ @) ()

4 v @) @ @O ()

44. Match the List - I with List - IT and select the correct answer using the code given below :

List - I List - II
(a) Sweet Taste (i) Decreases Vata
(b) Sour Taste (i) Decreases Pitta and Kapha
(c) Pungent Taste (iii) Decreases Vata and Pitta
(d) Astringent Taste (iv) Decreases Kapha
Code
@@ (b) () (d)
1) G @@ @ )
(2) (@) @ (@v) ()
G) @ @) @ @)
@ O Gv) (@) ()
acor [NV 2 Faper




43. Gt - 1 % Gt - 11 & W gafad oL 3R F K8 T %e 1 7@ 3 gu a9 fawed 94 ¢

el - 1
(ueh)
WYYSH

T - 11
(FTT)
(i T YN

(i) HUS I

(i) Y-7=

(iv) T g

(v) S o g Tew

44, Gt - 1 S G - 11 & T Gafed o 3R T 8 T Fe 1 7= 3 g0 @ foawed 94 ¢

(4)

w7 |

et - 1

@ () () (d)
i) (@) @O @)
(i) @ @(v) ()
O @) @) @)

i

(iv

) )
AT

(iii

ii)

)
I

T - 11
(i) o I T@I R
(i) o SR % I o §
(iii) aTd AR for T ST ©
(

iv) o DI T T
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45. Match the List - I with List - IT and select the correct answer using the code given below :

List - I List - II
(a) Pawan muktasana (i) In Prone Position
(b) Pashchimottanasana (i) In Sitting Position
(c) Bhujangasana (iii) In Standing Position
(d) Katichakrasana (iv) In supine position
Code :

@ () (9 (d)
1 @ @) (v) (i)
2 G @) @O @)
G) Gv) @@ @ ()
@) Gv) (@) (@D ()

Read the following paragraph carefully and answer the five questions (Question No. 46 to 50) :

Pranayama is the fourth step of Ashtanga Yoga. The word ‘Pranayama’ consists of two
components, prana and ayama. “Prana” means energy, the self-energizing force of life and
consciousness. It is the creator of all beings in the universe. ‘Ayama’ means stretch, expansion
and regulation. When the self-energizing force embraces the body with expansion and regulation,
itis called as pranayama. Itis the regulation of incoming and outgoing flow of breath with retention,
in a rhythmic pattern. It should be practised after attaining perfection in asana. Out of total four
types of Pranayama, first three types are regulated inhalation (abhyantaravritti), regulated
exhalation (bahyavritti) and retention (stambhavritti). These components of pranayama are to be
performed and prolonged according to the capacity of individuals. These three types are sabeeja
pranayama, as attention is on the breath itself during their practice. The fourth pranayama goes
beyond the regulation of breathflow and retention. It transcends the range of movements, appears
effortless and non-deliberate, thus called as nirbeeja pranayama. Pranayama removes the coverings
over light of knowledge and allows the inner light of wisdom to shine. By the practice of Pranayama,
mind also becomes fit for concentration (dharana). Pranayama, an important component of
bahiranga yoga, is not only a method to steady the mind, but it is also the gateway to dharana.
The step of yoga next to pranayama is pratyahara.

46. The word “Ayama” means :

Variety

(1) (2)
raoor [ RN 2

Regulation (3) Dimension (4) Measurement




45. G - 1 &I Gt - 11 3 919 Gafer o iR = 8 79 e 1 &0 itd g0 98 ST 9 ¢

g - 1 T - 11
(a) I HKEA () U h IA TR
(b) AR (i) TSI
()  SITE (iii) ST BIRT
(d) Wik (iv) e & od T
e
@ () () (d)
1 @ @ Gv) (i)
2) @) (@v) @) ()
3 Gv) @) @) ()
@) (v) @) () (i)

= feu T T B e ¢ IR 9T g o ST (. ©. 46 ¥ 50) ¢

IO ST ART 6 =gl =R01 § 1 UIOTEr’ 9168 o < 9ISeh &, WTOT 37 ST | 91T Rt 31ef § o,
S 3R =T B T-Feliehr dcdl | I8 SeliS o HE Siiell ol Toieh g | ‘M’ o1 21 € fe=me, fawn
3R e | 19 T-SeiehR) acd faear @R frame o | SRR &t SiTiehd ohar © @ I WIomaTy heerd & |
T TH AIdG A | HRU & T Tl ok Aaqet R afedwt T w5 e T swe v eed |
fafg ara & o 9% fRan ST =1fgT | WO o el 9IR TRl H § 98¢l o YR SMI=Rg T, i
3R wgfa € 1| Ao % S Seehi 1 ST iR gkt orafy safad i aTdar & ST AR B =few | A i
TR FeTS YO § SRiifeh Sk STWATE o SR A Yo WX & gra1 ¢ | e WO § v - e SR
RO o T & T S S ¥ 1 I Y- e &6t fd % W, gae Wed 3R wes B § oIk zaferd 34
Fetst WO el ST § 1 WOt FH - S o SR ol g2l © 3R g 1 3id: YRR S
ORI & 19T & gRT AiEdsh ot 9RO & 1 o a1 § 1 91O, i g A6 1 U Heequl sesh
7, 7 % gieqsn 1 90d o i T fafy €, dfces o8 9o o1 off Y99 gR €| WOy o S N7 hl STl
TR AR ¥ |

46. ‘ST’ v h1 A ¥ :

(1) YR ) T (3) UE (4) WA

) )
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47. Pranayama is advised to be practiced :
(1) Dbefore shat karma (2) Dbefore perfection in asana
(3) after perfection in asana (4) after perfection in pratyahara
48. The fourth type of Pranayama is called :
(1) Nirbeeja (2) Sabeeja Bahyavritti Abhyantarvritti
49. Pranayama is the gateway to :
(1) Asana (2) Yama and Niyama
(3) Bahiranga Yoga 4)
50. The fourth step of Ashtanga yoga is :
(1) Pratyahara (2) Asana (3) Pranayama (4) Dharana

-00o0-
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47.

48.

49.

50.

YT o 319719 hi TATE of St @ ¢

(1) wZhH &
(3) omHA fafg o ww=q

IO %1 =g TehR I gl © 7

1) feifs (2) e

o 9§ 9 forden 99w gr § ?

(1) 3mEA

(3) @A

TS 2T 1 uqe =T

(1) YRR (2) omEA

oo [ HHHIEA

(2) oed fafg & @
(4) YRR fafs % TwE

(3) @t (4)
2) @\ 3R frm
(4) @M

(3) A (4)

-00o0-
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